EAGRAROBREERT — 2 N— IBISH —F

2021568270 (B) 3EIF=8H

SR EEENY:

#HE (RS 5l

‘ [R1&] & ‘ [RERBB] — | Z (%) 16000 B

[~E4] 1% :7,000,000 @ ~ 23:2,800,000MH ~ 33&:

1,800,000 § . 4 & :1,100,000 H 5 #& : 700,000 M

WEBR MK HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
KHER :35. - . . FIREX (ERH)
TINFal)I G i 1(3_5)4 ) 3881 785 1 (450) DMMEU=L557 ()
LiE-UX BNCTAT J—HrTy—LA
5 st 2 | AitBiE 1:35.6 4-5 34.4| 761 | 2 466 | ERTEE (RR)
JUR)F 54.0 (1 1/2) o) | ) prF-L—vry
R:E-VZX B:YTbhwIlTq J—HrTr—LA
N = — . ZHER :35. = . . NFIEE (EH)
VSTV it 2 . (179;576) 4-3 34.5| 76.1 | 7 (452) ;ﬁm&ﬁ
L IE77x47 B:=Z2 /20Ty b HE R
; THE : - E— (%
SayFi a4 2 54?[3) 1.(315).8 14-15 [33.9| 74.3 | 10 | 460 igﬁ (E#)
RNALFA—X BiLavFTT— ) | rmis
—N— 4 o2 | AEEE 1:35.8 7-7 34.4| 740 | 4 454 | LRIEZ (#)
it 0 (76) Oy | mEREL
Rk LvH/kwF BAATATTS HRIERKIS
= 4= > 2 | BUBRHE 1:35.8 14-11 34.2 | 74.1 26 | HEEEAl ()
ThZ7T714—K " 540 (74%) ° (5_6) W) s —2Enz
LT ToRFL)— B v N =T #stt /—Xex
- = PEIIES 5PN :36. = . . FHREX (FRA)
25075 w o | g GEs |z [mi el e e 12282
RNZ—b1—X BNV T14y XL =Ty —LA
. - 4 2 | ATSR 1:36.3 7-7 35.0| 68.0 | 6 452 | TIRIEF ()
gl1|1|BTT=NIAH= 54.0 (1 3/4) o | EuEE
:Nd B:zZv/F—Z2a-0 #HE SR
— = 2 | BREAR 1:36.5 4-5 35.3| 64.7 | 9 416 | WS (KH)
9510 7T LAT 2T 7> 753.0 (11/2) (o) | R RU—TfFL—22
LR IALT BYITRFvy b gaiutie]
# o2 | BEEA 1:36.7 3-3 35.7| 61.1 | 13 | 478 |5 (EiH)
10/ 7|13 */V b 54.0 (1 1/8) ) |E&NFE
IR FLyY B:70-XrL-—v i s
= N AIEI5t :36. - . . HE= (R
N ARSI S o [ EE R e B B =
LT RIA VL= BATARETSA J—RH—-F
= 2 | BEXLT 1:36.9 1-1 36.1| 57.6 | 15 | 440 |iRAERIL (%)
12|11 2 HIVS T 7732 — s {52.0 (3/4) (=) HEiE—
R:HT7o8— BIAXRU—L ILIFA4 S
=~ KRR :37. - . . BRME (EH)
1317114| Fv TS o2 e 1(317)0 16-15 | 35.0 | 61.4 | 11 (430) ERnE
L:VWN=ZF—h B:aAXTHFIT B BAE
= = 4 oo | BBRE 1:37.2 7-7 35.8| 56.6 | 12 | 450 |BMEELEN (GEiA)
14 5| X7 4Y>7/—H 54.0 (1 1/4) () | TEFR=A-LF12TZ ()
R:AZR5KR=—% B:ErH/FTV—0A BAT77— L
. 5 4 o2 | ENEAF 1:37.5 1-1 35.9| 53.8 | 3 492 | EBRIBER ()
15 3 A IVF AT — 54.0 (1 3/4) (=) BrTER
L:RLT7H> BIULYLT—4 J—HrTr—L
= ) 4 2 | HPBE 1:37.9 1-11 36.3| 48.9 | 16 476 | HERE (EH)
16/8|16| EXT AV avE 54.0 21/2) (=) |HTE
R:5TU—F14 B:I%JVFyY WSS
@ 71 L
) 47.1-34.6
NA>ZA4 L | 12.8-11.2-11.9-12.4-12.5-11.7-11.3-11.6
® I —F—EBIERL
1T=7r=
230—F—
Fol=5r= (¥2,6)13(9,10,12) (1,4,5,15) (3,11,16) (8,7) 14
40—+ — (x2,6) (9,13) (10,12) (1,4,5,15) (8,3,11,16) (7,14)
[ N3
BB 1 350M 714K 11-12 330M ) 6-6 670M 3JEHE 9-11-12 3,730
8 B 1 1509 9-11 1,160M B = 11-12 630M K31 11-12-9 13,040M
12 150/ 9-12 1,020M B H 11-12 1,120
9 350H

ARICOVWTRDTEEERROODE. TR LIV,




